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Topic: soving systems of linear equations in 2 variables by using

elimination and substitution methods
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Variable ®#c> ~ isolate

linear equation systems of linear equations
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Elimination (3eip )i 3 i substitution (& » )i 2 ;=
add (addition): substract (substraction):
multiply (multiplication): divide (division)

curly bracket: replace

axioms of equality % & &2 parentheses (/] 3555

(RFFPg A P e 2 2o r 32 gz ~- Sz > fe5t

e f®E2 %40 # % Elimination (GF 2 i) 4 2 )4o Substitution(# » i
4 2)iea BF - 2:iE# P Elimination Method i*u{?* MPER) BRI NIV
et gl 42 kT RN IR BPEREN I AR R - B KRR
BT Apde) -

Please keep it in mind, we can solve any systems of linear equations
by using either Elimination or Substitution method.
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Because there are 2 variables in the system of equations, we need to

eliminate one of the variables in order to get basic linear equations
which students learned last semester
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Solve the following system of linear equations by using Elimination

Method
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The first equation 1is
X plus y equals b

the second equation 1is
X minus y equals negative 1
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Since we have positive y in
equation (1) and we can see
negative y in equation (2)

(xty)+(x-y)=5+(-1)
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we only need to add up these 2
equations. According to the
axioms of equality, the result
of adding up the terms from
the left of both equal signs
will be equal to the result of
adding up the terms from the

right
x+x=4 we cancel y
2x=4 Now we get
2 times x equals 4
X=2 divide 2 on both sides,

X equals 2
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Now we need to find the value
of y
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Xty=5eeee (D we plug x=2 in either equation
24y=5 (1) or (2), let" s choose
equation (1), we get
2 plus y equals 5
y=3 subsract 2 from both sides, we

get

So x=2, y=3 is the solution of this system of equations.
We can also write in the form of ordered pair

(x,y) 1is (2,3)




Solve the following system of linear equations by using Substitution
Method
(R~ d T - B 2 f25%)

froy s @)

x-y=-1 APFALER- BAKI BT S
Fe- i
We first need to isolate one of
the varialbes, let’ s choose x
from equation (2)
let me rewrite the equation (2)

x=y-1 NP R T AT
we want to isolate x, so we add
y on both sides, then

Xty=h-+++-(1) N R P )¢

(y-1)+y=b replace x in the top equation,
we get

2y-1=5 apsE &
Combine the like terms

2y=6 add 1 on both sides, We get

y=3 then divide 2 on both sides, get

Xty=Heeee- (1) #y=3 &~ -

x+3=H Replace y in equation (1)(or
equation (2)) with 3

X=2 substract 3 from both sides, We
get

So x=2, y=3 is the solution of the given system of equations
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